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Introduction to VTP (VLAN Trunking Protocol) 1900/2950
&

Introduction to VTP Revisions
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(VTP Trunking protocol is used to manage VLANs.  With VTP one switch must be configured as a VTP server.  Any other switch configured as a VTP client received VLAN information from the VTP server.   The table below lists the three VTP modes and explains each purpose:

	Mode
	Purpose

	Server
	Default mode for a switch; allows VLAN creation, deletion, and modification; send VLAN information to VTP Clients

	Client
	Receives VLAN information from VTP server and modifies the VLAN database accordingly; It does not allow manual VLAN creation, deletion, or change, but does send VLAN information on to other clients

	Transport
	Does not modify VLAN information based on VTP advertisements from VTP server; however, it does pass VTP advertisement to other switches.  Transparent switches create, delete, and modify local VLAN information (Local to the switch itself), but this local VLAN changes are not send to other switches


(To enable VTP, a domain name is required.  The domain name is case sensitive and must be the same on every switch.  To participate in VTP, a switch must be trunked with another switch in the same VTP domain
1. Consol into both switches and erase them.  Name the first switch SwitchA, and the second switch SwitchB Refer to previous labs if necessary.

2. Set switchA as the VTP server using the following commands:

	1900
	2950

	SwitchA(config)#vtp server
	SwitchA#vlan database

	SwitchA(config)#vtp domain Karl
	SwitchA(vlan)#vtp server

	
	SwitchA(vlan)vtp domain Karl


(Notice that domain name (Karl) is case sensitive and must be typed exactly as shown.
3. On SwitchA, create three VLANs—VLAN 2, 3, and 4.  Refer to previous labs for steps and configuration commands if necessary.  

4. On SwitchA, assign port 2 to VLAN 2, Port 3 to VLAN 3, and port 4 to VLAN 4.  Refer to previous labs for steps and configuration commands if necessary.  

Question 1:  What command(s) did you use to verify the VLANs?

5. Set SwitchB as a VTP domain Karl Client using the following Commands:
	1900
	2950

	SwitchA(config)# vtp domain Karl
	SwitchA#vlan database

	SwitchA(config)# vtp Client
	SwitchA(vlan)# vtp domain Karl

	
	SwitchA(vlan) vtp client


(Notice that domain name (Karl) is case sensitive and must be typed exactly as shown.  Also, you must assign the domain name before you make a switch a VTP client.  If the VTP client command is typed first, the domain name cannot be set.  

6. Connect a crossover cable between port A in both switches (on the 1900 switch) or port fa 0/10 on both switches (on the 2950 switch)
7. Create trunk ports on both switches.  Refer to previous labs for steps and configuration commands if necessary.  

8. Using previously learned procedures, verify that SwitchB has VLANs 2, 3, and 4 listed as available VLANs
Question 2:  Since no VLANs were created on SwitchB, how did the switch learn about VLANs 2, 3, and 4?

9. On SwitchB, assign port 2 to VLAN 2
10. On SwitchA connect a host to port 2.  Assign the host the IP address 194.249.2.2/24

11. On SwitchB connect a host to port 2.  Assign the host the IP address 194.249.2.3/24

12. Ping between the two hosts.  Was the ping successful?  

.  If not troubleshoot.

(VLAN changes sent through VTP advertisements are tracked through a revision number.  A received VTP advertisement with higher revision number than the local revision number will be used to update the VLAN information.
13. Use the following command to determine the revision number on a switch:

	1900
	2950

	Switch#show vtp
	Switch#show vtp status


Question 3:  What is SwitchA (server) revision number?_________________

Question 4:  What is SwitchB (client) revision number?_________________

14. On SwitchA (server), give VLAN 2 the name Roxy.  Refer to previous labs for steps and configuration commands if necessary.  
15. On SwitchA use the proper show command to verify the Roxy name has been applied to VLAN 2. 

Question 5: Does SwitchB show VLAN 2 as having the name Roxy?_____

Question 6:  How did SwitchB learn the name for VLAN2?

Question 7:  Recheck the VTP revision number using the appropriate show command and write them in the space below:

SwitchA revision number: ______________________________

SwitchB revision number: ______________________________

__________________________Instructor’s Initials
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